Moisture content loss ('Radial’) data from 3.5

PEG 20 % at T=0
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Moisture content loss ('Radial') data from 3.5 


PEG 50 % at T=0
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PEG 80 % at T=0
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Control at T=0

Sample 46 at T=
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PEG 20 % at T=18
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PEG 50 % at T=18

Sample 16 at T=18
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PEG 80 % at T=18
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Control at T=18
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PEG 20 % at T=54

Sample 1 at T=54
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PEG 50 % at T=54

Sample 16 at T=54
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PEG 80 % at T=54
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Control at T=54

Sample 46 at T=54

Sample 47 at T=54
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PEG 20 % at T=264

Sample 1 at T=264 Sample 2 at T=264 Sample 3 at T=264 Sample 4 at T=264 Sample 5 at T=264
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PEG 50 % at T=264

Sample 16 at T=264

Sample 17 at T=264

Sample 18 at T=264

Sample 19 at T=264

Sample 20 at T=264
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PEG 80 % at T=264

Sample 31 at T=264

Sample 32 at T=264

Sample 33 at T=264

Sample 34 at T=264

Sample 35 at T=264
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Control at T=264
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PEG 20 % at T=528

Sample 1 at T=528

Sample 2 at T=528

Sample 4 at T=528
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Sample 5 at T=528
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PEG 50 % at T=528

Sample 16 qt T=528

Sample 17 at T=528

Sample 18 at T=528

Sample 19 at T=528

Sample 20 at T=528
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PEG 80 % at T=528
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Control at T=528
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PEG 20 % at T=720

Sample 1 at T=720

Sample 2 at T=720
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Sample 5 at T=720
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PEG 50 % at T=720

Sample 16 at T=720

Sample 17 at T=720

Sample 18 at T=720
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Sample 20 at T=720
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PEG 80 % at T=720
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Control at T=720

Sample 46 at T=720
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PEG 20 % at T=1200

Sample 1 at T=1392
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PEG 50 % at T=1200

Sample 16 at T=1392
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Sample 20 at T=1392
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PEG 80 % at T=1200

Sample 31 at T=1392

Sample 32 at T=1392

Sample 33 at T=1392

Sample 34 at T=1392

Sample 35 at T=1392
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Control at T=1200

Sample 46 at T=1392

Sample 47 at T=1392

Sample 48 at T=1392

Sample 49 at T=1392

Sample 50 at T=1392
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